REREZATRERBRICODVTHEER-E2DI)

WEtEES S L
g
100Bg/ kg% X 5L D0
BREHE
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Ba. kg Bg. kg Ba ke
1 AL R5.10.2 BEARLUL=F (FEER BREE9(<34) 8.80 8.8
2 L R5.10.2 FREARLW=1F (5% BREE9(<44) 5.96 6.0
3 wmET R5.10.4 BEERLULM=T (FE% BREE9(<4.9) BREE9(<4.0) - Janpcc N
4 EZAM R5.10.4 BEERLULM=T (E% BRHE9(<6.7) BRHET(<48) - Janpcac N
5 HEMEET R5.10.3 BEERLULM=T (FE% BRHET(<L5.3) BRHET(<43) - Janpcc
6 JI{RET R5.10.4 BEERLULM=T (FE% BRHET(<4.3) BRHET(<L3.7) - Janpcc N
7 TS EET R5.10.4 BERRLULM=1F (FEE%) BREE9(<5.2) BRHEE3(<4.6) L Janpcac N
8 SEEEE R5.10.3 BERLULV =T (7EER) BRHET(<41) BRHET(<L35) BRHEY
9 SEEEE R5.10.3 BERLULV =T (7EER) BREE9(<5.2) BRHEE9(<4.6) L Janpcac N
10 SEEEE R5.10.2 BERLULM=1F (%) BREE9(<42) BRHEE9(<3.3) L Janpcac N
11 SEEEMT R5.10.2 BERLL=F (FEER) BHEET(<45) BRHEEY(<43) BHEY
12 SEEEMT R5.10.2 BERLUL=F (FEER) BHEET(<47) BRHEET(<48) BHEY
13 SEEEHET R5.10.2 BERLUL=F (FEER) BHEET(<46) BHEEY(<33) BHEY
14 h et R5.10.4 BERLL =T (FEE% BRHE9(<5.8) BRHE9(<5.8) BREEY
15 lIET] R5.10.3 BERLULV =T (7EER) BRHEE9(<2.9) BRHEE9(<2.9) BREEY
16 T $ERHT R5.10.4 [RARLGZH (EHh) BRHEET(<47) 469 47
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No 5 RExH AMDELE Iy L-134 2 L-137 BEE
Ba/ ke Ba/ke Ba kg

17 Rt R5.10.3 RARMH (Fih) BRHEE7(<38) 7.02 7.0

18 =BT R5.10.3 RARGH (Fih) BRHE9(<3.3) 8.31 8.3

19 HEM R5.10.3 FRARFE 1T (Fih) BRHEE9(<4.9) BRHEE9(<5.2) BREEY

20 A& R5.10.3 RARFE =T (Fith) BRHE9(<5.6) 31.7 32

21 HET R5.10.3 RARFE =T (Fith) BRHE9(<5.2) 11.9 12

22 T SERET R5.10.4 RARFEL =T (Fith) BRHEY(L<5.1) BRHE9(<4.0) BREEY

23 F=IEHT R5.10.3 RARFEL =T (F#th) BRHE9(<5.0) BRHE9(<3.6) BREEY

24 AEHRHET R5.10.4 BRUST-1T (i) BRHEEY(<44) BRHE9(<3.6) BREEY

25 T SERET R5.10.3 BRUST-1T (FEith) BRHEEY(<42) BRHEY(<3.1) BREEY

26 _Em R5.10.4 BRUST=1T (HEE%) BRHEEY(L<57) BRHE9(<3.6) BREEY

27 R TE R5.10.4 BRUST=1T (HEE%) BRHE9(<4.9) BRHEEY(<44) BREEY

28 3= 4] R5.10.3 7387 (ERE) BRHE9(<4.9) 10.4 10

29 F=IEAT R5.10.3 T (ERE) BRHEE9(<7.3) BRHEEY(<7.8) BREEY

30 ST R5.10.4 T353R (BEHE) BRHEE7(<3.9) BRHE7(<35) BREEY

31 =10 R5.10.2 RO (ERE) BRHE9(<3.0) 9.66 9.7
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